/-\K

Losoy. BMWRI1250GS Adventy re A_\uxiliary Lights Mount
ror My Motour tie Installation Accessories List Model: CDJ082C

0 2 3 4 5 e

Quantity: 1 piece Quantity: 1 piece Quantity: 1 piece Quantity: 2 pieces Quantity: 2 pieces Quantity: 2 pieces
082C Lights mount 082C Lights mount 082C Lights mount 082C Lights mount Outer Diameter: 20mm M8 X 75
fixing part 1 fixing part left fixing part right fixing part 2 nner Diameter: 8.omm Torque: 18N-m
eight: 55mm

Quantity: 2 pieces Quantity: 2 pieces Quantity: 4 pieces Quantity: 2 pieces Quantity: 2 pieces Quantity: 2 pieces
M8 X 20 M8 X 20 M6 X 16 M8 X 18 M8 X 16 M6 X 16
Torque: 18N-m Torque: 18N-m Torque: 10N-m Torque: 20N-m Torque: 20N-m Torgque: 10N-m
(Used for fixing the horn) (Used for fixing auxiliary lights) (Used for fixing auxiliary lights) (Used for fixing auxiliary lights)
13 14 15 16
S || & oy af o
' ‘ ﬁ Ty .;4:
v v 7.00 ""il"
4
Quantity: 2 pleces Quantity: 8 pleces Quantity: 2 pleces Quantity: 2 pieces Quantity: 1 piece
M6 gqgkets - M8 gaskets M8 Iock- r?ut M8 flange nut Screw glue Please Scan the code o
(Used for fixing auxiliary lights) (Used for fixing the horn) watch the installation video

. J Ol



BMW R1250 Adventure Auxiliary
Lights Mount Installation Diagram

Model: CDJ082C

| a—

@/ ) @

Notes.

1.Please read the installation instructions before installation.

2.When installing each component, do not tighten the fixing screws immediately. After
all components are installed, apply a suitable amount of thread locker to each screw,
and then tighten all screws. Pay attention to the torque requirements for each screw
(refer to the accessory table above).

3.Regularly check the fixing screws of each part.

01



LoBod

For My Motour Life

BMW R1250GS ADV i@BhITZ R L fd (bR
Al=: CDJ082C

WaE: 1H&

082C Z Tz 58
== /'_U?_{t: 1

WE: 1H&

[

082C = 4T3z 2%

R

WE: 1&

082C %—*J S

| 7E 1

A

WeE: 2 &

M8 X 20

177

(A3

. 18N-m

E RIIN)

14

(

VERVINESS:
35 [&] & I\

=
4)

~N

7.00

4

HE 2%

M8 JE =12 H




BMW R1250GS ADV
AN 2 RK

=BT

A=: CDJ082C

g=e)

- —

@/ 14 @ @ &

= HIn .

i

. REATRFHEIREZE A,

ST EMF R RENTARITREERZ, FebFRETFEEEERL
BLRBFEEIBRLITE, AR TRBRLIHIERX (FREHR) .

. EHIRERSFEERZZ,

01



